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Answer either in English or in Assamese.

1. Answer the following questions: 1x10=10

Ood SRR e fram
(a) Define a diagonal matrix.
R (e kel o |

(b) In case of compound interest, what is
the formula for amount if interest is
compounded half yearly ?
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(c)

(@)

(e)

K=aiS f(x) Wﬁ?ﬂmﬁaﬂwﬁw

() The nth term
f i :
s term(.) zhal [ R R O Find
4Bl TS 2ol O AV T 4y — 3
MR 109 w15t fey oy |

(@ Is a _scalar matrix a diagona] matrix‘ ?
| (Yes/ No.)

<0
e e fopef T | (57 (o7 7237

(h) " Fill in the blank :

0T 312 ofqef 251 -
2 1R
dx U5 s
(i)  Define trade discount
T MR et oy
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() Write one difference between matrix and
determinant.

e o e e «br st o

2. Answer the following questions: 2x5=10

oo AT Ted WA

{a)‘ Evaluate :

gy, T R

/& o : ‘.'\‘, \ \O ) g
: fih - O =if
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Y (b) Find the eight and the tenth terms of

the series:
G B OF W 2 el
2+4+8+16+----
(c) Divide Rs. 52 among A, B, and Cin the
ratio 5 :=:7
e 5 g
IeAow S 11|
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(d) Evaluate :

e =1
EI'H\/1+x— 1-x
—0 S
€ It @ [”‘o’y yJ:[“ ‘IJ
I e e o Pt

Find the values of x and y

XNI® y I A e 7y

Ans i
wer the followmg questions (any four)
: 5x4=20

N Robin borrows R 32,760 without

B3
2\In
/ %gﬁt and agrees to pay back in 12
A \ mstalments, each instalment

ein ice tF :
| ecogdtWICC the preceding one. Fine the
; nd and last instalments.

T 1 99 30,760 Tat et o1 12 9

2R oo SR s 3 e I
e eAfST1 Ry Gapta st wiisiS B9 51
TS med w ) a8l e oo R TP
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(b)  Prove that A®*-4A+3I=0, where Iis
unit matrix, O is zero matrix and

(gt
A= .
5 2)
ol N (T, A2 -4A+3[=0 T© T
GFF (ETPT, O o1 4 CTTT AF

[ 2 —1}
A= ‘
i o)

(c) Solve :

S -

e -
1 ocs 110
[

(d) Integrated any two of the following: -
O R 7517 SRt el <5
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' (iii) J-(xz' +x+1)dx
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p _ mﬁﬁﬁﬂmw—cﬁﬂ%@mﬂtﬂ:
dy : & pa
< 3x+y+2:z_—3
dx <90 2x—3y—Z=—3

x+2y+z':4

(b) A sum of money invested at compound
interest amounts to Rs. 2,420 at the
end of two years and to Rs. 2,662 at

the end of three years. Find the sun

and -the rate of compound interest. ©

e o0 B! G B TS LA

the ra
i t?tsof 10% p.a. At the
Find the value become g rohut
€ original value S %1,31,220. '

GiVen: 4

- (0.9) =

] Answer ]
any four from the foll

(@) Solv
e
e the fOHOwing 3 |
ramer's rule: stem of equati
6
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(e * A A
per dozen. | dozen of m :
y 10 ango
ﬁgzen A ggzzn of applegs e@si@gi 18 ;2
bofl i?zen ‘ReprESr; c;f bananas @geg (c U @@ fM=735a
n
colu%nn rl;?;tiow matrix grllii quantities ' (SI‘SHGT = @) a i
c IX an pric Prove that 2ZG0REN Cop
aﬂOSt. d hence find theefofi VOS '
AR 2 141+3= e |
ST S f0)-f 1 3
© 4 Terw ON/d
WW:{N@% t T ey v 7. (a) Find the differential 'co_efﬁ’(%l,e:ntfof X
m T o ol I iy R | using first principle. 5
<R G : |
6. (a) Fi bl ’q%WﬁﬁwﬁawW | amviamﬁaﬁ xﬂa@aﬁw@fﬁcﬁ
nd (i) the a | sl
and (i) the maee S TeVenue f
for the tota] # ginal revenye ful‘lctmn ‘ (p) Find the maximuml and minimum
belOW- Ev €venue funct Ao 1 £ 3 2 12 1 5
;luate them at g 1 (R) given values of 2x — 2% 8 x-1-
= l = s
weTe firmi g3 20808 % o —9x° +12x -1 < o3y oI A W
T I (H)W 2 fQefa <
8. (a) Define linear programming’ and state
its limitations. : 4
s ergrar el el e B AT
Crgd A1 |
() Solve the following linear progr amming
problem by graphical method. 6
Contd.
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Maximize (3R w1 fefy 57 ..
Z = 8x it Sy ]
Subject to (EAToIT) -

X+y<250

R'(x) =
re\(z ]—8——6x+2x2; et
enue function £

I
ﬁmﬁ@mmw _ 9

R’(JC) =t 6x
+2x2 mm i‘b _
R =i

(b) Examine the SO

_ tith
function at X = Uity of the following

3
it < AN P FEhE wififozme!
x?-g
f(x’:: —;:'E“, ]_f e
6 if fl'a
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10. (a) Define:
el ferall

(1) Dividends

i M
¥ <@ T

(b) Which is a better investment : 4% stock

at 82 or 44% stock at 95 ? 3

80 TEE 4% B 1391 95 WS 4%2% o]
(IS LT R AreTEe 22

5 boys can do half a
5 days and 3 men and
e-third of it in 3 days,
days will 9 men take
5

(c) If 2 men and
piece of work 1n
4 boys can do on
then how many
to finish 1152




11. (a) Find the inverse of the following matrix :

6
Oolq (TeTrrCo1d 2ifores Sines)
Ll
A=|1 3 3
15 i e \
b) 1 @) A{:g
Find (g =) : )
2B+ A
ity 4 3
¢ If (zrﬁ)A=[3-4], B:L J
Find (Refx =) : 2
tABJ
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